
                                                                                                 
 

 

     

           

 

    

            

    

           

 

        

        

8 (a)  E.g. Members who attend may be of a particular 

type 

E.g. Absent members cannot be included 

B1 2.5 

 

Any correct explanation  

Sample is not random B0 

 

    [1]    

8 (b)  156, 248 B1 1.1  965 must be discarded 

   73, 181 B1 1.1 Allow 073 In this context do not 

accept a repeat of 156 

    [2]    

 

 

 

 

 

 

 

 

 

 

 

       


